Function – Every input has exactly one output. (Each x-value only has only y-value.)
	x
	1
	2
	3
	4
	5

	y
	2
	7
	3
	8
	9


Function because the x-values do not repeat.
	x
	1
	4
	6
	1
	8

	y
	2
	4
	9
	5
	1


Not a function because 1 has outputs of 2 and 5.
	x
	1
	2
	3
	3
	6

	y
	4
	5
	6
	6
	7


Function because 3 has the same exact output.
	x
	1
	2
	3
	4
	5

	y
	1
	1
	1
	1
	1


Function because the x-values do not repeat.
	x
	2
	2
	2
	2
	2

	y
	4
	4
	4
	4
	4


Function because all of the inputs have the exact same output.
	x
	1
	2
	3
	1
	2

	y
	4
	5
	4
	6
	5


Not a function because 1 has inputs of 4 and 6.
[image: ]
Function because the x-values do not repeat.

[image: Image result for tables that are and are not functions]
Not a function because 3 has outputs of 54 and 84.
{(1, 3), (2, 7), (1, -2)}
Not a function because 1 has outputs of 3 and -2.
{(1, 1), (2, 1), (3, 1)}
Function because the x-values do not repeat.
{(3, 2), (5, 3), (5, 5)}
Not a function because 5 has outputs of 3 and 5.
{(1. 4), (3, 8), (5, 16)}
Function because the x-values do not repeat.
{(1, 1), (2, 2), (3, 3)}
Function because the x-values do not repeat.
{(1, 1), (1, 2), (1, 3)}
Not a function because 1 has outputs of 1, 2 and 3.
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Function because it passes the vertical line test.
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Not a function because it does not pass the vertical line test.
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Not a function because it does not pass the vertical line test.
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Function because it passes the vertical line test.
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Not a function because it does not pass the vertical line test.
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Function because it passes the vertical line test.
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Not a function because it does not pass the vertical line test.
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Function because it passes the vertical line test.
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Not a function because it does not pass the vertical line test.
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Function because every input has one output.
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Not a function because 1 has outputs of 4 and 6.
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Function because every input has one output.
[image: Image result for mapping diagrams math]
Function because every input has one output.
[image: Image result for mapping diagrams math]
Not a function because a has outputs of p and r and b has outputs of p and r.

[image: Image result for mapping diagrams math]
Not a function because -2 has outputs of 1 and 3.
[image: Image result for mapping diagrams math]
Function because every input has one output.
[image: Image result for mapping diagrams math]
[bookmark: _GoBack]Not a function because -35 has outputs of 1 and 22.
image5.png




image6.png




image7.png




image8.png




image9.png




image10.png




image11.png




image12.png




image13.png




image14.png




image15.jpeg




image16.png




image17.gif




image18.jpeg
Domain Range

I

[ —




image1.png
> |||
x [w|o|~|o




image2.png
Not a Function

Function

120





image3.png




image4.png




